ANS Fundamental Theorem of Calculus WS II
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AP Calculus AB
Fundamental Theorem of Calculus WS II

The graph of a function h(x), consisting of semicircles and straight lines, is given below. Use the graph to

| ¥
answer the questions below. SHOW ALL WORK!
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ﬁ‘;‘ & of the particle?
/ = A7+ 5t , ,—..Qol 9+40) - O traveled 168 m
/ 0 -
/ 168 m in & sec
V. Write an expression for the following. .DO NOT SOLVE.
13) A news broadcast in early 1993 said ihe average American’s annual income is changing at a rate given in
dollars per month by r(¢) = 40(1.002)" where # is in months from January 1, 1993. I_fEthis trend continues, what
change in income can the average American expect in 19937 ljnfO( . oo 02)
14) A cup of coffee at 90°C is put into a 20°C room when: = 0. If the coffee’s temperature is changing at a rate
given in °C per minute by r(f) =—7¢™", t in minutes, estimate the coffee’s temperature when ¢ =10 .*i(‘- e 2 ﬁ ¢
0
15)  In animaginary galaxy, a star is growing at a rate given by 7(¢) = (tant)"* unit mass per century. A second star
grows at a rate given by p(f) = 2’ unit mass per century. Give a physical interpretation for the definite integral
, A : P
f@ - ann™y a. Merenco in masses o starg
0
VI.  Evaluate each definite integral using the Fundamental Theorem of Calculus.
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4( particle travels along a stralght line with velocity given by v(¢)=4¢+5 m/s for time 0 to 8 seconds.

F |
What does the answer to #11 mean in terms
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(1) -(lu#%)

28~ 1) = 52 Q- (2-1)- 63
_‘ ; :

Scanned by CamScanner




